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int main(void) {

ok R Rl i it ) intx =77,y = 66;
R OREDRARBEESE > Rl Bt B £ A PP IR hof P R R printf("swapA #, 7 # : x= %d y= %d\n", X, y):
FEFARAIL - ¥ EALFRLIREH ;z%i‘ﬂ?» A e e swapA(&x, &y);
QrFLi-%HEG » L g v A 2HEHA > LAfAH5 254 0 B3H 100 ~ - ) printf("swapA # {7 14 : x= %d y= %d\n", X, y);
OAFRITANE R I HLARFILNFRL T HHENTF > L@ fdfdp 7 RN LR T printf("swapB % 7% : x= %d y= %d\n", X, y);
ff'jé?rlﬁ .r% j , swapB(X, Yy);
OFF N ERLLTRAMY AL - 2 FATE /LA e$#h§’ Eire FARE - printf("swapB # 7 5 : x= %d y= %d\n", X, Y);
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Fik 3t - @425t swapA & swapB @ $4 7 B % 40T 1 [25 4 ]

BREARNE T Y R A Blendp 4 040 C3E 5 ¢ (H FOR()it B ~WHILE():t & {- DO...WHILE()
W A NGRP LIRS BRI AR PRP P RSB EET I A 2 [25 4] SWapA R 7w : x=T77y=66
swapA H {7 FH I x= 66 y=77
swapA L i7{s © X=66Yy=77
swapB #{ {77 : Xx= 66 y=77
swapB # {7 % H. : x=77 y= 66
swapB # {7 {¢ 1 Xx=66y="77
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D public static void main(String[] args) {

FE 3k & 5 NIENx(N-1)x(N-2)x ---x2x1 # ¢ N 2 & F#co 32 C & Java 2 ¢ - 8355 k3= 4250 int[] testarray= new int[8];
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